<'RRino

MC3KR
KammRack

Instruclions

{cm( CRASH (,,)}

According to ISO/ PAS 11154:2006

MC3KR_c rhinoproducts.co.uk



MC3KR:
MERCEDES Sprinter 2006-

VW Crafter 2006-2017-
VW Crafter 2017-

KammRack

A
\\\\\\\‘. f

W\

T

il

il
\\

C04 x 6
*optional upgrade”

SA397U x 3] SA398U x 3| SA430[ |
PS519 x 1 [ ] EXT15-02 [ | SA438x1[ |
LHS x 2 RHS x 2 Centre x 2

(L1, H1 Only)

MC3KR_c



Fitting Kit

N

PS183x 6 [ | PS023 x 6 ] MS209 x 12 [ ] FTO1 x 1 [ |

0 =

FW002 (M8) x 6 ] FN0O6 (M8) x 12[ ] FN085x20[ | PS020 x 6[ ]

Fso18 [ | FS134 [ ]
(M8 x 25) x 20 (M8 x 45)
x 12

FS293 N
(M8 x 65) | |

x 12 FTO5 x 1 [ | PS325 x 6 [ |

FS107
(M8 x 75) [ ]
x 6

MC3KR_c 3



K517- Sprinter/Crafter 2006- L1, H1, Twin Doors

@

.
+ ]
41kg/90lbs

150kg -

fe——3250mm —
5245mm

2435mm

~ 790mm

1205mm 490mm

A®

O&OO&U

@

+

38kg/84lbs

150kg

)

MC3KR_c



/=],

/]
M-
SR N~
OIS,

= 10 = 10 0
o N @ o 2 o
o 9 o2 o0
09 09 7]
< & g & < 8
LY N o )
0] 0 0
- - -
) )
o o 4
@ ®
@E _=® L:@
H 1
o o N
7 2 ®
o o 1]
o
=~ o & UP
o o 5 9 ~ o
& o b o o
<0 M"\lv M-
CLI 1 I 1

PS183

<

PS325

MC3KR_c



A Steps 12-20.

FS081 |
FS107

M8 x 50/75mm

PS183
PS325
FWo002

!

Steps 8-11, 16-20.

A

PS183/
PS325
PS023

MC3KR_c



ey
Q =

FS134

(]
=)
-
(4]
o

= FS293

PS325

=
(&) M8 x 45/65mm

12.

MC3KR_c



o
N

MC3KR_c



FNO85

23.

25.

CLICK!

C1

B1

MC3KR_c



10 MC3KR_c



34.

11

33.

\

X ..,
@@%ﬁw\

MC3KR_c



40

=l __,§,.s.;.&.\u_.f.@

\ =

=10 Nm

FNO85

39.

~10 Nm

MC3KR_c

12



MC3KR_c 13



52, —
%

55.

\
\

~10 Nm

= gt
//‘/% =
. 2 <
- ’\\‘
’A

|

i
I \__“
A=t

56.

510mm

i
4 N

MC3KR_c



58.

A+B
v / A ®

PS519 CLICK!

61.

30mm MAX

MC3KR_c

62.

_-/“'\I




N\
\\ UK +44 (0) 151 319 2931 rhinoproducts.co.uk K] sales@rhinoproducts.co.uk

Manufactured by Rhino Products Ltd in the United Kingdom.
1 6 Rhino Products Ltd, Rhino House, Deans Road, Ellesmere Port, CH65 4DR. McsKR_c



